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Group: Electrical, Electronics & Computer
: Booklet Séries K3
Read carefully INSTRUCTIONS FOR THE CANDIDATEB given on the front page and
answer the following questions: . : b Y
1 | The electron affinity of chlorine Is 349 I-c..umol. thth tho comct quatighad :
formation of chlorde? _
A Ci(s)+ e —Cr(s) + 349k
B. Cl(g)+e —Cl(g)+349kJ
2° | Which set of slements has the ltmngut tend
state? )
A U NaK '
- |'B. Be,Mg.Ca : : = D.GLE s, Se
3" | Out of these dlatomlc moloculu C,, N,. o,. Fy which has ma)drnum bond order
A C b C. Nz
.|B.- Oz ‘D. F»
4 | Which of the fol!owlny Iom would hav- ‘the smallest lonlc radius?
A 0" . - |e:-er : L
= . central atom h'l'PG'h =
8 | The geometry and typs of hybdd orblhl pnbﬂilmu'ld the
{ A Unear, 5p - C. Tetrahedral, 83, g * !
B. Trigonal planar, sp’ - 1 D. Pmmldal.sP_
€ | Whichstatement does mtt:phln why elements in i'm.al'l,pll_e;: W
A, They have the same number of valence | C. They tend o have the same -
electrons * electronegativities .
B. mmdhhavesknuarmddaﬂon D. Thuyhndbmﬂncﬂnﬂdmhﬂ
number reactivity
7 |Whatlsthe l-mplriul formula fora eompound ﬂut contalns 17,32% hydrogen and 82.53%_
carbon :
A CH : L E c CH, - _ s
B. Cats D. CHe i

8 | Uncertainty In position of a pzr'icle of 20 g In. space is 10 m. Hence, unomﬁlnty In
velocity (m s”) Is ( Planck's conslant. h=6.6x10*Js)

A 2Bx 100 c. 3.0x10™
B. 22x10° D. 35x107
9 | The number of radial nodu of 4s lnd Zp mﬁmlt are mpocﬂvely
A .30 : ... ]C..03 - e -
B. 20 ' D. 21 -

Thae values of four quantum numborl of valence electron of an-element are n-4, =0, m=0

10 and s=+172. The element Is:
AV - . Na.
B. K D 8¢ -
11 | What Is the oxidation numborol' phﬂsphorus In KH;PO..?
A M ] C. +V .
B. Il ' D.
12 | Which one of the following Is not a form of chemical bonding?
A Covalent bonding C. lonic bonding
B. Hydrogen bonding ___Il Metallic Eﬂﬁ ]
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nuclel lose C. Quantum theory s not applicable to the
energy so slowly | : ultra-structure of an atom.

5. Electrons around a nucleus can have D.  None of these.

only Serain particular energles and can
- 9nly 6ccupy cardain spacific prbits.at ' . -
T e icular distances from the nuclevs ~ ik —55

Calculaty the molarity of NaOH In sotution prepared by dissolving Its 2g In water o

| ML of the sofution s ' - .

A 02mdl e C. 0AmolL" g
18 04 moi i D. 0.02moll™"

18 | The wave function wipsy Y

A. Represents the particle fundlics . a value of psi squared Indicates

associated vath ﬁw o X :tr‘:nrg gsﬂilﬂy F;ithﬂ particla’s presence

B. Ris not related to quantum theory and de | D. A small value of psl squared indicates tha

. —.___Broglia waves , : 3trong possibility of the particle’s presence
.| 18 [ The angie batwoen Contripotal acceleration and tangential acceleration Is? :

A O S N '

B. 45 - - |D, 180%. :
71a Particle having position vector of a particle In Sl units Is 7 = 4-#’?";3‘:]"‘2’1" the

acceloration of the particle'wili be :* . ' —

(A 4mpisT . e C. 5m/s’ - .
1B fomp® . T D.-_None of thess et e  *
18 Ahm;ru; shell Is fired wiltt the velocity of 10 mis at an anglo of 45°, Calculate range of | -

she - : - ' .

A. 8m . RN C. 112m

B. 102m - D. 112cm
|19 | Arock s released from the top of a very high

cliff, spproximataly how far does the rock
travel In the first 7 seconds of its free-fall? ( .

Assume no air friction.)
A 12005m \ ) C. 240.1m
B.  602m D. None of these
20 | If'I'Is the moment of Inertla znd ‘E' Is the kinetic energy of rotation of a body, then
Its angular momentum will be . " 5
A NEN 1C. El e S JELTI
B. 2El '

D. Y(2El)

21 |'Aclrcularthin disc of -mu:'dl kg has

. dlameter 0.4 . Calculats the m
ingrtla about an axls passing through the edge and perpsndicular the moment of

ar to the plane of the dige
(In kgm?) A _
A 024 C. 018
B. 0.68

D. None of these
22 | A round disc of moment of inertix I; about Its axie

lcula
through its centre Is placed over another mP'rpmd ular to Its plane and

ta ¢f moment of inertia I, rotating with
angular vel 'w' about the same :
sramatn Y #¥I%. The findl angular velocity of the combinati o
A L+ 1) 2 C. w ;
B.-  lywd(ly+ 1) P 10+ Ly,
23 | A particle moves with constant angular m

mentum, what Is true out of the follgmi———

A anquawilbenonzﬁulhl;‘._nnmhm C. Lh""'ﬂbmenhmwﬁ M“m
: paraliel to each other
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B. . Torque will be zero. [D. None of these '
o ;f;h: ;::ruuru ;: 1':' :::"I gasls """“‘d W{;‘ﬂ“. Isothermally, then Its volume will
B.  Increase by 10.1% . ncroase by 9% . o
L D. None of these A
25 lrmal;goﬂn;l kinetic enorgy for one mole of the gas, Is equal rf—-.? ;"’J
e C. 32kT Pt d
26 | For the propagation of electro-ma ;
A. Oscillate parallel tonadnollurm
perpendicular to the direction of fight
8. Oscillate perpendicular to each other
and also to the direction of light . AV
27 | What is not must for the propagation of Electromagnét waves
A ___medium C. electrc field
B.  magnelic field D. acharge -1
28 ;:T c:roll;: ;:r:tc::n u:f :.75. ™ Frﬂ-ﬂtr Than that of K. I both the surfaces are Iradiated with
the K.E. of the photoo Ioch:mm;ﬁm 1::"1‘1;:::5;?&“‘ In the Na surface as compared to:
Al Less C. More
- [B. Same . " . |D. Cannotbe determined
28 | The Half Life of a radioactive substarice Is 6 hours. After how much time will one elghth
of the ndloacthrlty in a sample remain? - : : . "
1A: 12 C. 15
B. .18 . “|D. 24
30 mmdmyvunm:yuwhww . ’
A, alnear function C. a quadratic function
B. _ asinusoidal function D. an exponential function
31 | f atb=1, thon 3o C(n, P)a”b™ Is Iqttil to . o
A *:ﬁ'-r“* =2ip - 1C. 0
B. n__ - - | D. None of these I
32 | Let s;nq 143454 s csniessnssssnnnn b (2K-1). 2 34K2, Then which of the following Is
true ) i
A.  S(K) does not imply S(K+1) C. S(1)Is corect :
B. sm lmpry su&t) D. Principle of mathematical nduction can
be used to prove the formula
33 | Leta and B are the roots ni’equaﬂoh x-x+1=0, then o™+ g™ = ' -
A -1 - C. 1
B.” 2- D. -2
34 |if a>0, b>0, >0, then (a+b)(b+c)(c+a) Is greater than
LA 2(a+b+c) C. 3{atb+c)
B. 6abc D. 8abc .
15 | Total number of four r.l!ult odd numbers that can be formed using 0 1.?13.5 7 are-
" A 216 C. 400 ~
B. 375 . D. 720
36 | tan9® + tanB1® +tan27°® +tan63° = )
SR S £ -5|Page
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A
A 4«; . Lo -:';._._ ... l
B. 4 FEEFE
37 | In a triangle ABC, cosA + 2cosB + cosC li‘litbln
A__HP. il Fk
B, G.P. *ale ek
- = i w"‘.[ch Is
383 | A Nagstaff 10m high stands at the centre of gn ra) gl ) ot each side of
thatnrpo!tlwﬂlgstaffuch slde aubhndl' \d ‘e
triangle Is ;
A 83-
B. 43 . . .
39 | The equation afslp x4 cos'x =2 Iul areal loluunn!.nx IT ]
A 05zasi - .15151____________-—-——-—""
B. 025sast1 = . D ns;sﬂé
___.——-‘_-_f_'_-
40 | If sec20 =tand + cntqa. then a value of EH-¢ Is
A, mR C.-mRd - : —
B. w4 D. N . _______.....-——-;——
41 | 1 C Is the reflection of A(2,4) In x-axis and Bh_ﬂrl:nﬂoﬁﬂon of C ln'.r:lﬂ'v
‘1A 20 . : C. 45 . .
B. 2¢5 e T . D 4 . _ : .
42 | The circles @ + y* = 9 and X + (y5)' =16 N _ .
A. Touch each other intemnally N C.” Db not intersect i _
B. Touch each other extemally . D. Cutorthogonaly
41 Thlaxhnlﬂupunhoh.sy’_-ﬂx—‘liywﬂ'-u -
B.  16x+61=0 D. None 58 1l =
44 | The eccentriclty of an elilpse, 1wlth Its centre at the origln Is 0.5. if one of the directrices
x=4, then the equation of an ellipse Is
A 4+ =12 C. 3d+4y'=1
B. 3F+4y=12 ' D. 4C+3"=11
25 | The locus of the equation, (x*#y?) (<'+y #xty) =0 s
A.  Astraight line C. Adrcle with centre at orlg!n
D Adide through the crigh D._Nono of these }
46 | fsin=tx +sin™'(1 — x) + cos~* x =0 then x Is equal to-
A 0. . cC. 2
B 1 D. None of these
47 | Matrices A and B will ba Inverse of each other only If
A AB = BA - C. AB=0,BA=I
B. AB=BA=0 D._ None of these
impleox In two dimension Is . _
“ :_‘ ':langle - c. bothtriangle and rectangle
B red.angh ' D.. none of these
- T "6|Page
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49 | d’x

ay equal to
B

@)@ 2 S @E”

B. (%) E)" . D. (ﬂ)“’

80 | [ stn’x dx equal to ' o
A T : C. K
s S 6 A%
B. D. ¥ G
= 2 3 AN
51 | Amla (gooseberrles) Is the rl:hut source of which vita N L
A Vitamin A C. 1
| B VitaminB D im0
52 | Which of the following elements Is a metal? ks
A S c. C
.| B. Se D. Ga
63 | Indlan Constitution was lmnndnd for the ﬂr:t time In —
A 1850 C. 1851
B. 1952 ’ D. 1953 .
64 | Which of the following states has the largest rlprunqtlﬂon In the Lok Sabha?
" A Bihar C. _Madhya Pradesh
B. Maharashira " | D.  Utiar Pradesh
65

%Ichunan!ﬂuhunﬁuunhhmmhuglrdlnnmm plilars is incorrect?
--__'__._——l——__'__
A. _ Thdse are highly polished C. Thess ars monolithic

B.  The shaft of pillars Is tapering in shape | D. These are parls of architectural
4 structures

56 | Thoe river most mentioned In early Vedic literature fs —
A.  Sindhu C. Sarasvatl
B,  Sutudr D. Ganga
57 | 10 cats caught 10 rats In 10 seconds. How many cats are required to catch 100 rats In 100
seconds?
A 100 ’ cC. 10
B. 20 D. 50
58 | Choose the correct altematlve tﬂ fill in the blank lpfar.- that will continue the same
attern.
%9, 13,22, 35, 2 )
A 57 C. 83
B. 60 D. ‘75

68 | Which of the following w:- a mcummcnd.ttlun of Hunter’'s Commisslon?
A, Women's education C. Brnduammﬂlnfmhsuppnrtlmm

higher education _
B.  New reguiation for the organized D.  Introduction of civic education at collega
- senates system and university level
60 | Choose the cormect meaning of the phmﬂldlum- '
| Smell a rat L
A Tondu'rf-ahﬂ ] > | C. Tuhummnfnrausped

—
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5 Tomiboss o ﬁ%
&1 TWhore was the final match of Cricket World CUP zﬂggt;L//
. |A.  Melboumse C. /
B. Wellngton , D V
62 | Who Is the Chief Minister of ﬁl.l]:ll‘lt?. W
A, Narendra Mod! C. Shd Sa =
B. Anandiben Patel , D. W
63 | Wnat Is meaning of underfined jdiom In the following sentence?
| am afrald ho Is bumning the candle st both ends .W
A~ Becoming overgenerous C. Wasting his mon® -
B.  Overtaxing his energies WW
62 | What Is meaning of underiined Idiom In the following sen ’
In the omml.-.:gjg;hhr of today no Indlvidual or nation can ﬂo_unhnﬂgyﬂﬂ“_’"—"ﬁ'
A. Remain unaffected - : C_ Do without the help of e __———1
B, Survive in Isolation D. Remainnon-afigned ___——|
65 | . Ganga Is a sacred rivar. - |
A The . ' C. An ]
" |B. A . | D. None ]
66 | Gandhl Ji on charkha every day. B ' : |
A" was spinning = | €. hadspun .
B. spins — |D:_spn - -
67 | Thisks best player | have sver mat N
- |A . a C. Both (A) and (B)
-|__|B. the . D. Noneofthese _ —
" | 68 | Mybrother __ football In tha same club to which lam assoclated.
A play : .| C. played
B. _ plays D. lsplaying
&9 | John says, "I shall go there™. Indirect narration form of this sentence |s -
A John said that he went there. _ C.. John says that he went there.
4 B, John says that he will go there. D.. John sald that | will go there. -
70 | Robert will say to ma, "l am your tlassmate”. Indirect narration form of this sentence Is -
A Robertwil tellme that he Is my c.m Robért will tell me that ha will be my
| " “classmate. .- * . . classmale.
8. Robest will tell me that he was my D.- .Robert aid me that he Is my classmate.
classmale. ) .. .S . ’
71 | The cecond harmonlc companent of the periodic waveform glven In the.figure has an
amplitude of : Y m . = .
ey =Y .
] e . .z :
3 STPT S
. 2 ;
A 0. C. afm.
[ B. 1 D. 5.
72 |LVDT is 2 :
A capacitive transducer. C. _Inductive transducer.
[ B. resistive transducer. D. None of these.
8|Page
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73 | For the operation of enhancement-onty N channel MOSEET, value of gate voltage has to
bB ; L e
A zero C. _I'!gﬂpmlﬂ\'o —
B. low positive D. high negative _
74 | For standatd TTL logic circults, the values of Voo and Yoy 419 J—
A 0.8Vand20V. C. 04Vand2V. —
B. - 0VandbV. D. oAVand24V, IS
76 | In an Induction type of meter, mulmurn torque Is pm:luud whion the phase angle,
' betwean two fluxes Is —
h—' 0. c-p m 1 p—
B. 45 °, D. 90°.
76 | The r.m.s. value of the current i(t) In thi circult shown bolow Is .
F ‘iH
&
ity 1o
’ +
- (Losiat)V B
A 112. C .1 20N .
B. N2, - D, v2. _-
77 | Plozoeloctric crystals are used for the measurementof -~
A temperature. ' C.
B. velodity. D nono of theso.
- 78 | Current base part of a transistor behaves like
A constant Cument sourcs. c. ‘o mhtlmu
B. forward blased dicde. D. _none of lhesa-
79 nld;rnammuhrtwcmthnmr.mmd coll s E
voltage coil. C. cument ch
current of voltage coil L_E__bfﬂ'lm,__.__-————-——' :
1] Fur routina cheat radiography you would lxpcct tn ﬂct thl best contrast characteristics
*+ | by using .
A 35 kV. C. HSW
B. 65 kV. D. 125KV.: |
81 | Givon two coupled Inductors Lyand L, thelr mutual inductance M uttsﬂe:
A M={B+L C. M>|LL, v
82 | »ra lonization vacuum gauge, In construction, s similarto 8 -
A Vaccum diode, C. Thyratron.
B. Vaccum lrode. D. Hone of thase. E
83 | A crystal diods Is used as
A ana C. “an ncdilatnr
B. a rectifief, D. avoksge regulator.
B4 | The bridge method commonly used for findl mutual inductince Is
A Heavisida Campbell bridge. C. De Sauty bridge.
B. Schering bridge. D. Wien bridge. .
85 | A series RLC circult has R=50 0; L= 100 pH and C=1yF. The lower half power frequency
of the clrcult Is . I
A 30.55 kHL C. 51.92kHz
.055 kHZ. D, 1.982kHz
26 The 1nput and output displacements are of opposite phasa In -
[ A simple lever. C. compound gear trains.
8. compound lever. D. Noneofthese. -
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"| A diode whose termi
nal characteristics are related as i, = I[y] where [ is the
reverse saturation cum“l nnd V Is T
the th
mA. s dynamic resistance ls ormal voltage (= 25 mV), Is blased at [, =2
A 25 ohma. 7
88 - 12.5 ohms. - g .':Dmnlzd.;:.
The simplified form of the :
i Boolean expression Y =(4.BC +D)4.D+B. C)un be
A 3 5 5 - = =
. AD+B.C.D | G+D)@.Cc+D)
i AD+B.C.D D. 4AD+BC.D
89 | If the distance of scroen from a CRT to centre of deflect] . tes Is 15 cm, the length of .
deflection plates of Is 2 em, the dlst:nconhehzu; Iai iy ®nd o :t:;:g tlu
| voltage Is 600 V, the deflection sensitlvity ks e L b ratng
A 33.2V/iem. C. 684Viem.
B. 003Viem. _ D._0.015Viecm.
90 | Dlagnostic ECG recordin requires a band width of
<. A - 005t0100 HZ C. 5to40 HzZ
B  S0WE0Hz D. 5L 100Hz. _
A mmlnﬂﬂcslgml mndtumlnglymm With a carrier of 3 KHz, the frequency should
A 1kHz C. 600z . - =
B. 5 kHz. D. 2MHz. :
92 | An X —Y fiipfiop, vmosa Ghmcurhﬂe Table ks glven htluwhtubﬂmphm-nhd u-lna
a J’—Kﬂlp flop
XY | Qg
ojoj1
o1l |-
T]ola |
11110 "
This can be dona by making L
A J=X.K-_—?. C. J=Y.K=
B. J=X,K=Y. D. Jy=¥,K=X.
93 | The advantzge oi Varley loop tests over Murray loop tests Is
A. _ theycan be used for localizingof short | C. the loop resistance can be
" dircuit faults, experimentally determined.
B. they can be used for localizing of earth D. thelr accuracy is higher.
faLIH! N e
94 | The stroboscoplc method of speed mmurem-nt has the advantape that
A the method Is simple and ﬁralght C. astationary image can ba observed.
forward . :
B. nnml.llﬁplesofangtﬂar:puedmbn D. -there Is no need of any physical
measured. contact betweeri the instrument and
the rotating shaft. .
95 | In the circuit shown below what is the output voltage (Ve In \ful.u if a sllicon Irln-btnr
Q and mldu:np-amp ars used? .
- TR . 10|Page
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sV
-15V

A -15 C. 07

B. 07 : D._15

96

Ceonslder different activitles related to email.
m1: Send an email from a mall cllent to a mall server
m2: Download an erhall from mallbox server to a mall cllont-
m3: Checking email in a web browser.
Which is the application level protocol used [n each activity? '

N

A mi-HTTP m2:SMTP m3:POP C. mi: SMTP m2. POP.m3: HTIP% (_::'_';

B. mi:SMTPmZFTP m3HTTP . . D. mi: POP-md: SMTP m3HASH.

a7 -

VWhich of the following Is NO'» aesired In a good Sa!hnr-w

(SRS) document?

A.  Functional Requirements . .1 C: Goals :
B. Non Functiomal Requirements D. Implementation

98

: .iﬂP;I - L -u..

Consider.the following tabje of arrival time and burst time IdT three prnutul PO, H.

Process ° Arrival ime Buut‘l'h;c

PO - 0ms - Sms

P1 1ims dms © - .

™ e --hllgodﬂvmh d. Schedullng |
The ptive shortest job first scheduling used. Scheduling Is
cmdpn:nﬂnrdy at arrival or completion of processes. What Is the average

. walting time for the three processes?
. C. 6.3Ims

A 50ms
D, 7.33ms -

B. 433ms :
funetion foo when It Is called as foo (513, 2)?

VWhat Is the return value of the
A 9 . C. 5§

D. 2

100

In tio IPv4 addressing

-

B. 8 .
format, the number of networks allowed under Class C add resses

is .
c. 221

214
- D. 224

B. 27 ' . _.

101

Reglster renaming Is done In pipelinad processors

A nmmﬁvﬂhmgimramuonat C. hmqﬂﬁnﬁmﬁﬂm'

B. ummﬂvohmglsterammnlt
time -

D. @d part of address translation

102

ROM needed to implement a 4 bit multiplier Is

amount of
= C. 1kbiis

bits
Ao . D. 2Kbits

B. 128 bits

103

Which of the m'uilng-mmnu are TRUE sboutan SQI'_lqu-m
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BT a GROUP
P :An 5QL query can contain a HAVING clause even Ir It does not have :

Q': An'SQL query can-contaln a HAVING clause only If It has G%?o ELECT clause
R : All attributes used In the GROUP BY clause must appoar In r In the SELECT
S : Not all attributes used In the GROUP BY clause rioed to appes _

clause e
A PandR C. QancR __-—_
% Pamds D._Qanc> kis
: Tho Protocol data unit (PDU) for the lehcatnon layer In the lntornet e
(A" Segment C. Message _
T a— | B, Datagram 0. frame
S | A process executes the cudo
fork ();
fork ();
fork ();
¢ [Thetotal number of child processes croated Is J
AT &
B. 4. ) D. 8

106 thh of the following statements is/are TRUE for undlrected nﬁlph-'-?
P Numberofodddegm vertices Is aven. :
°‘5"m°fdogm of all vertices Is even.

A_Pony - 3 C. BohPandQ
_B Qony =~ % ! - D NefﬁlerPnOI'Q
107 | Which of the following Ia TRUE?
A Every refation Is 3NF Is alsochNr-" C. Everyrelation In BCNFhaholnaNF
'| B+ Arelation R is in SNF If every non-prime | D, No relation can be in both BGNF and 3NF
atiribute. of R Is fully functionally S
dependent on every key of R ¥
108 | The transport layer protocols used for real time multimedta, file transfer, DNS and mll
- respectively are
; A. _ TCP, UDP, UDP and TCP C. UDP, TCP,-UDP and TCP
: UTP, TCP, TCP and UDP D. TCP, UDP, TCP-end UDP
109 Ona of the purposes of using intermediate code In compllers Is ta :
A’ make parsing and cemantic analysis - C. increase the chances of reusing the -
_ vlmplef . _ machine-independent code optlmh:er h
T e s other compliers.
. pmve error recovery and error . D. -t
= L ecol improve the register allocation.-
110 |-A prime dttribute of a relation scheme R Is an at‘h-lbute thatappears . -
A." In all tandidate keys of R. . C.. Inaforeignkeys of R,
B. Insome candidate keyofR.. . | D._only In the primary ke:y of R
111 [In the following pairs of OSI protocol layer/sub ' 7
" | INCORREGT palr s layerisub-layer and its functionality, the
1A, Network hyer and Routlng C. Transportla -
2 artiayer and End-to-end process
I Dala L:nk Layer and Brt ‘ =
yer and B eynctvonization | 5. Mediam Abcsss Garig sublayer o
112 | Which data structure | erts g -0 |,
re in a compller usedform ) nation : i
and their attributes? anaging information about variables -
A Abstract syntax tree . | C. Semantic stack

B R L T Sy,
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B. Symboltable [D. Parse table .
13 Whlchumufﬂnloﬂmhnntlcllnﬂlmulpﬂaﬂun?
A, Intemetchat - C. E-mal
B. Webbrowsing - D. Ping
114 | Which of the following ¢ crnt.umncr cu-ntml protocols ensure both confilct ,.mq
and freedom from deadlock?
1 - 2-phase locking :
Il Time-stamp ordering - i
A loaly - . -- - : C: Bothlandll
B.- Honly -+ . "_| D._ Neither | nor Il .
115 | A system uses 3 page frames for stordng process pages in maln memory. It uses the
Least Recently Used (LRU) page replacement policy, Assume that all the page frames.
arg Initlally empty.” What is' the total number of page fthtl that will occur while.
processing the page reference string given below? \
. 4,7,6,1,7,8,1,2,7,2 ' _ r"ﬁ"
A § - f ) C. 7 ) Wl e .
8 6 - 5o - -2 LK
1186 Which of the following thm the Dpuntnrnvnﬂo:dlng feature Jn C++ _ /p‘.'s i
A. - Polymorphism C. Mossagepassing - _~/a'"s .
B. Inheritance : D. BothAsndB . 1 -
17 lnhnuphwtﬂchﬂhlﬂlhdbyln Instruction are
A Intemal . C. -
| B. External . - : D. Software % -~
118 mmndhmuﬂlrurlmﬂhmhyh SR SR . _
| A bt - bytes - flelds - ramrd floa~ C. bytes - bit- fleld - record - file — database
- database ~ I -
B. bit- bytes - record - fleld - file ~ D. bytes -bit - record - fleld - fils — database -
- - database i 1 o = . :
119 Whhhtectﬂmumhhuduudbmmn:&uh]dhmumﬁhﬂmwcwm
A.. Time-sharing : : C. Preemptiva schaduling
B. SPOOUng D. Muliprogramming
120 | The approach to software testing Is to design test cases to
A. breakthe software . C. @nalyze the design of sub-processes In
R, & \ ; the software
B. understand the software ' D. analyze the outpu’ of the software Read
wing pulse code rrmlu!ttlnn m Is Anal
121 \::'hlcphcuc; the l_otl.ﬂ gp Cm e P?:iu
B. : - D. Dela
1 Th’-bl "t O’I.'Pﬂ : hErl'nrrliade'lh iz
rt;abmtyhnlninqﬁlomll C. Tn;::lh *IU*" ng
B. mmmmpmuﬂl*n}u D. Thhl“Lwa Bmdwldﬂuﬂ'ntmmquh'ad
tems Is digital
123 #’%ﬂmﬂ_—% e PERTErRY _
B. Pu&ah%nodl:on — L:,?amem
; frequency of & r haterodyne :
oo %ﬂdmm&heﬁ C. hdmmhwﬂiduﬂwmannﬂ
B. I:ndn.iededbﬂMIFuwddmits D. s independent of the frequency to which
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the recelver |s tuned —
125 | An FM signal witha modulalion Index my 18 puud through a inqucncr tripler. The
wave Is of the output of the tdplunﬂl: have modulation index of
A . md3 C. m,
B. 3my D.
128 | The modulation index of an AM wave Is chlnw_qw.'_ﬁwwih_
A.  Unchanged C. Hahed —
B. doubled D. lncreased by 50 pércentage
127 | Amplitude Modulation is used for broadcas becauss - .
A Ttis more nolsa Immuae than other C. cm;mdwiu-.wmystemsmmS
modulation systems lass tran
B. Htuse avold receiver mrnplaxlty D. Mo other modulation system can provide
s the nacessary bandwidth for_mg!‘-_.ﬁdﬂl'_—
128 | In a communications ::.«rslam. nolse Is most likely to affect the signal
A. Al the transmitter C. Inthe channel
B. Inthe Information source D. Al the destination
129 | Which one of tha following Is equivalent to AND-OR realization?
A NAND-NOR Realzation C. NOR-NOR Realization _
B. NOR-NAND Realization D. NAND-NAND Realization =
130 | 1he minimum NOR gates required to h'npllmint A(A+ BXA+ B+O)hs “Il-lﬂ to
A D cC. 3
B. 4 . - D -7
131 | A+BC Is equivaloht to L
' A (A+BYA+C) i c. A+B
‘| B. .A+C D. None . :
132 | To implément pnacn uslnq onw fwo Input NAND gites, minimum numbor of.
i_cEIrlmentof gate is - e : -
C. 4 .
B 5 D. §
133 | Hinput signal to ufullmucﬂﬂlrll ﬂltuhnnldﬂilnml thonﬂn lom:tﬂpph_
| frequency In output is
A 25Hz C. 50Hz
B. f00Hz D. 125Hz -~
134 | 1C 741 and IC 555 are
A 'Bn!h OPAMP ICs C. OPAMPIC; and Regu'latorlc
rupectrvaly
B. PLL IC and Timer IC respectively D. OPAMP IC and Timer IC respectively
135, | Ideal valua of CMRR of an op-amp Is N
-[A -20dB C. zmds
B. 2000d8 D. Infinita -
136 | The I1C T4ALSO8 s a
A. Quad 2 inpul AND C. Single 8 Input NAND
B. Quad2input OR D. -Quad 2 lnput EX-OR
137 | The mothod used for regulltlon Inan SMPS Is : '
.ot A PPM C. PWM
-|B. PCM- ° D. PAM
138 | The transformer Is lctuatly a
A Vo eneratol C. power source
. amplifier : D. none of these
* [439 [Heat sinks are used for < _
(A Heating the ICs C. _Sinking transistors in water
. B. _Increasing weight D.__Disslpating heat
~ [140 | Simple Diode Is ]
A Ar.tm Dm .| C.__Passive Device
14|Page
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B. Active and Passive Both - D. .None of thase
141 | Transistor Is . e e eun we s .
A.  Active Device + C. - Passive Devica
B. Active and Passiva Both D. None of these
-| 142 | All Intrinsic semlconductor are Insulator at
A 300°K {C. 0°K
B. Room Temperature D. , Very High Temperature
143 | Transistor has lowest output Impedance In .
A. CB C. CC
B. CE D. CC+CE
'| 144 | In a bipolar transistor, base Is :
A. _ Thin and lightty doped C. _Thin and heavily doped
‘ B. Thick and lightly doped D. Thick and heavily doped
145 | Ebers model of a transistor represents two dlodes connected
A, In Series In parallel
B. Backtoback D. None of thesa
146 | JFET has main drawback of
A. Having low Input Impedance C.__Having high input impendenca
B. _Being Noisy D. Having small galn bandwidth product
147 | The MOSFET switch In Its on state may be considered equivalent to
A.  Resistor Inductor
B. Capacitor ) D. Battary !
148 | Avalanche breakdown primarily depand.l on tha phmmnmnf
A. _ lonization [ -
- | B. Collislon -4 D Rmnbl'laﬂm.
149 | The mmthmﬂydop-a nglon ina tnushtnrla
. A Base C.. Collector ' -
; - D. _Both Emitter and Collector
150 th:h of the gMgodc thmnr the negative resistance reglon?
A.  P-N Junction Diade C. Zener Diode .
B. TunnelDiodea D. PIN dioda
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